
)UDQMR�0DWHMLþHN'DPLU�6HPHQVNL=GUDYNR�9QXþHF892'�8�67$7,.8�6$�=%,5.20�=$'$7$.$
1DNODGQLN*2/'(1�0$5.(7,1*âHQRLQD�����������=DJUHE7HOHIRQ�L�IDNV���������������IDNV�������������

=D�QDNODGQLND)UDQMR�0DOHWLü
8UHGQLN,YR�$OILUHYLü
/HNWRULFD-DVQD�$åPDQ

/LNRYQD�RSUHPD*RUMDQD�$OILUHYLü
3ULMHSLV�UXNRSLVD0DULMD�0DQGXULü

.RPSMXWRUVNL�VORJ�L�SULMHORP)UDQMR�0DWHMLþHN��=GUDYNR�9QXþHF
7LVDN�L�XYH]*UDILN�&2/25��6ODYRQVNL�%URG

&,3�²�.DWDORJL]DFLMD�X�SXEOLNDFLML1DFLRQDOQD�L�VYHX LOLäQD�NQMLæQLFD��=DJUHE
8'.��������������������
0$7(-,ý(.��)UDQMR

8YRG�X�6WDWLNX��VD�]ELUNRP�]DGDWDND�)UDQMR�0DWHMLþHN��'DPLU�6HPHQVNL��=GUDYNR�9QXþHF�� =DJUHE��*ROGHQ�PDUNHWLQJ��������������VWU�������FP�� �8GåEHQLFL�VYHXþLOLãWD�-RVLSD�-XUMD�6WURVVPD\HUD�X�2VLMHNX� 0DQXDOLD�8QLYHUVLWDWLV�VWXGLRUXP�-�-�6WURVVPD\HULV�2HVVHNLHQVLV�8GåEHQLFL�VYHXþLOLãWD�X�=DJUHEX� 0DQXDOLD�8QLYHUVLWDWLV�VWXGLRUXP�=DJUDELHQVLV�
%LEOLRJUDILMD��VWU���������.D]DOR�
,6%1�������������;
���6HPHQVNL��'DPLU�����9QXþHF��=GUDYNR
���������


